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Use the shorter truth-table rnethod to dctermine

the validity/ invalidity of the lollowing (any ONE)

dE ttq-<nff frE am ffift*< i t ffi q-6 fr
itrr z eritrn + Gtq frfrrA:

(i) p= q
qrr
-p /.'.-r

(ii) [(p vq). - p] = (rvp)

Explain and illustrate any two of the following informal
fallacies: (5x2=10)

ftqftfud Brffi+' R-dAfrn+ M i fr*er6'€rqr@r
frRA

(i) Fallacy of Composition

ftR aq
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(ii) Appeal to force

ttu aq

(iii) Complex Question
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2. rlftc{i*Ef,6ir
s. cr+ *vf,r eiMqrFfi r* q 66q, Ak-{qrtgflt sr

qrtrqy6'ff+ff qrRqr

(a) Which of the following are true or false (do any

five): (l x 5=5)

ffiF+e + + 6t{qr rrer qr er{rFr * (+{ S ciq

trt)

(i) Logic is the study of human conduct.

n-d qr+e BTFRgT 6r Bftzrfi +l

(ii) Contradictory form of a true proposition is

always false.

ffi rs il+cr€ q.r qrqr& w vtsr sce *cr
tsr

(iii) Conclusion of a deductive argument is not

certain.

ftrrq'fl8-6 nqi 6r Frq{ frfr+a +ff

(iv) A categorical proposition is a combination of
more than one proposition.

2 2419 1l

frk6r itf, t qm tfi qR *t d-*a qR qe

sff+ +rq t r

(vi) Either the propositions are conditionally
connected or they are not. (C)

(+qrfl qr fr qsrd 6c t $ Ev * vr n
:rff r

ffit{d n t ffi v6 fr ilffi6 Rlfr qr q-ss,

Eq Eqlsrft wFrr lrrqrdr I Fnrkur frRa:

(i)
(ii)

(pvq)=[-p>q)]
(p'q)=-(-pv-q)

(c) Determine validity/inval idity of any one of the

following using Truth-table method: (5)

Ts qRff frE ar<r ffit6 t t ffi \o' fr +trdr

,/ 3rirdr * vrq dRrt:

[(p:q).r]:(-pvq)
p'q
pVr /".(pVq).r

(D
( ii)

P.T.O.

(b) Determine the logical status of any one of the

following statement forms as Tautologous,
Contradictory or Contingent : (5)
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(a) Symbolise any five of the following statements:

( I x5=5)

ffqftfud6-c-d++ ffictq ql q-ffi*-tur *m:
(i) If he is a good academician, then he will

write a book. (A,B)

qR qa s6 c16r ffrenE( *, * qs ym' gwo.

ftrdrn r

(ii) Both cricket and basketball are popular
games. (C, G)

ff;*e aqr qr+id-d i*- ff ffi *r *r

(iii) If Shilpi is there at the interview, then Harish

will not get the job. (S, H)

qEffiEziqqiA6R{rdffiTe
fttm r

(iv) In case he finds a job, he will not stay in his

home. (J, H)

:rE rt ffi fi-d vrfr * tr s-6 qr + Tff

r*.n r

(v) Siddhika will participate in the game if and

only if she is eligible. (S.E)

\-+ Rer il+qrqq \6 t o{fu+. qrflit- 6r
(+m{ t

(v) In I proposition no term is distributed.

I il+qmq t d{ qq qrq rtt *r

(vi) Equivalent function is a conjunction of two
conditionals.

{cE@ s-tr{ a 3nqft-d wri or e*q-+ *r

(vii) .p: e, is FALSE when both the components
are false.

(b) Fill in the blanks (any five ):- (lx5:5)

tft P{ril.. d qt (+{ crq)

(i) AAA is a .,- MOOD in l"t figure.

AAA gsr{ ifirfR + srqre[ tr

(ii) If both the premises are particular the
Syllogism is 

-qR i* snqrcerfl frts * + qTqgk _
*rftr

P.T.O.
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(iii) Contrary of a true proposition is 

-ffi q-s ird-qFFr 6r ffir 

- 

*<r *r

(iv) The 

- 

of a proposition is changed in

obversion.

cRn-dn i v*srfl 6r 

- 

trritt Erdr * I

(v) The conclusion of an inductive argument is

sr{FFnFrfi Rd 6r Frq.{ 

- 

*tr lr

(vi) Conclusion of any argument necessarily

follows from its 

-ffi li ildq-T M orM w+ Et* 

-
t fto-erar ir

(a) Distinguish between any two of the following:
(sx2=10)

FrqRft*r + + tu'€i a + erct wq dftrt:

(i) Argument and Explanation

n-d *t qren

2419 9

*€ tt on em{?h T& *r

rrft Erd +dr e

... +{ st }tr qcrri {& *r

(ii) All scientists are mathematicians.

All scientists are Idealist.

.. Some ldealist are mathematicians.

rfr ffio. rrFrra lr

srft ffi+, 3ngrkrA +r

.'. Eo slrqst-crff rrFrca ?r

(iii) Some lawyers are successful.

Some actors are not lawyers

Therefore, some actors are not successful

E6 Td-6 ss-m *+.

qo erfr*ar q-+d {e g

rafts E-s srfrttr qs-d <& *tr

2
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(ii) Sentence and Proposition

TTFFI iTT d+.lltFl

(iii) Truth and Validity

Tsf,r iTell +srdr

(b) Define'Existential Import'? Discuss its impact on

the Traditional Square of Opposition'. (5)

rurs6' ws{ fr qfrrrsl Afrqt qRqRfi ftfur qri cr
gr* firq q< s-qi 6tr

OR /BI2ItII

Explain the relationship between four categorical
propositions with reference to Traditional Square

of Opposition.

qT1qft6 trtq q{ + 6d{ t qn ffia ilffi A frq
dr +flE<ur qrqr *Rrt r

(a) Change the following sentences into standard form
categorical propositions : (Any four) (lx4=4)

ftrrRRrd srd q} qr+o nffio 3n6R t q<frq:

(*{ qn)

(ii) All Maoists are cruel, so all cruel persons

are butchers since all Maoists are butchers.

trft qrffi 6{ A, E(ftq vrt q{ qk 6RT{

+ dfu qrft qreiqrA 6-{r{ er

(b) Test the validity / invalidity of any two of the

following using Venn diagram : (5x2=10 )

+{ 3{rffr frfu anr ftffi+r + t ft-€ a * +rdr

,/ Jrirrfl 6T filrtrur frftt :

(i) AAA - II figure

(ii) EIO - III figure

(iii)AEE-lFigure

OR / SI TtIT

Determine the validity/ invalidity of the following
using the Six Rules of Syllogism (any two).

ffia qrq qk * oa ftri Er Bc+rr or* frqftfred

+ril z wAtrdr F:fft{ trt (+{ a)

(i) No students are criminals

All students are lcaders

3

No leaders are crimin als (i) As you sow, so shall you reap.

P.T.O
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dqT d*t *qr qr&t 
r

(ii) Farmers are never dishonest.

B.flT 6rft t€qrr =rfi itt

(iii) Only some movies are interesting.

++o E-d 166* ff tr+o ii il
(iv) Not all competitors are selfish.

qrit vffiff erff r& *tt
(v) A few children are disciPlined.

E-6 w q"i qvnRa *t * r

(vi) Every citizen is not a voter

v+6 irrrto c-ilErdr r& +dr r

(b) Find conversion, obversion and contraposition of
the following: (Any one) (4\

ffit+t or qta-€q, cffiHqrcffi{{dr&
(6i€ \'o')

(i) No students are illiterate.

*{ rt ora nRrtu( T& +.

7

(ii) Some dancers are singers.

E-s a-SM rnqo'*t *r

(c) lf 'All AI dcvices are sensitive' is True, what can

be deteflnined about the truth / falsity of its
opposites ? (3)

qR '{at AI 3rFaqr ffid B' vs * fr Eq-+ mfi
qr+ii * TFftrr / Bmtrfl + sR + HI fuftrd fuqr

qr rrs-dr i?

(a) Reduce any one of the following into their
standard syllogistic form and test their validity/

invalidity using Rules of Syllogisrn: (4)

ffift*( + + ffi r'o, d sq* qr6 <rqgk sro.n

+ a-dfrc art <T 
-qcR( 

* ffi- ar e+{T 6{+ Es s{fr
trarzerltrn * crq dfrrt:

(i) Some directors are actors because all actors

are sensitive people and some sensitive people

are directors.

E-o fr?rro aFi+dr *+ e ffi qtft slFr+il

ffira +r At * *< A-o ffita +{ fterTm

*i *r
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